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1 Question : PART - I- .

“Answer any TWO

1. Analyze the portai frame (F[g 1} by "Moment Dsstrlbutlon method” EI is consrant for aII
o memntrs Draw SFD and BMDG.. : . : .

4£0m

15k
F8KN o ‘AA 6 i A E = i ’ B
. BT : 3m S ém L 25
2.41m . _ . o .
' Fig.2

BIEEE Cigl

2.1 Analyze the continuous beam in Fig. 2, {oy siope deﬁect onm utnod; rf sUpports B and c 5'|;!\ by

A
o

Zmm and 2.5min respectively. i= =4x107 m_m4 E= Z_QQKN/I mmes Braw J—u and BMD. .
3. a2} |.Explain Th;“ piﬁin.ciplp of _:m..':!\‘fzin_g fined 'rr‘l : o - |
b} | What do.ybu x;nean by the tériﬁ relative stzﬁrsess éf fthé fn.efhb'é;{? .
¢} | What is static and kinematic indeterrainacy? Exp.[aliln with éxam.p{eg. . L DA 84344%83

i 1 Find maximum positive and negative moment of the Beara in Fig. 3. '
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[ "No. of B ~ PartIl (AnsWer any 2 questions) E Marks
| questions - Full Marks =50 (2x25=50)
L. | Analyse the frame shown in figure 1. with cantilever method and draw [ 25 .
' the BMD of the frame., ' _ '
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2. A multistoried building consists of 3 storied and 3 bay frames spaced | 25 -
] at 3.2 m center to center. Live load ‘on floor slab is 3 kN/m? and dead o

load 3.5 kN /m?. The spans of the beains from left to vight are 5m, 4m |

-and 4 m respectively and storey height is 3.1 m. Moment of inertia of -

the beams is.1.5 times that of columns. Self-weight of the beams are 3.

KN/m. Determine the maximum momient in the beam at the juriction |

| B) ofthe first and second span of 2™ floor. '
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3 A fixed beam of span L carries a point. Joad P at mid span. The | 25
7 { moments of inertia of the section are I for the left half of the span and
21 for the right half of. the span. Find the fixed end moments by |

column analogy. S T
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